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Question (1)
Prove that: 
1-  C = 1.56 T for deep zone.                        2- C =  for shallow zone.
3- Cg = 0.5C for deep zone.                         4- Cg = C for shallow zone.
5- Cg < C transition zone.

Question (2)
If the wave height in deep water equal to 4 m and period T = 10 sec. Find: 
1- Wave Length and group celerity at deep zone.
2- Wave lengths and group celerity at depths 50, 30, 20, and 5 m.

Question (3)
How long does it take a 13 Sec. Swell to travel from New Zeland to California, if distance between them 15 000 Km.

Question (4)
A wave tank is 150 m long, 6.40 m wide and 5.00 m deep. The tank is filled to a depth of 4.10 m with fresh water and a 2-m high, 7-Sec. period wave is generated.
1- Calculate the corresponding deep water wave length and celerity.
2- Calculate wave length and celerity for the given case.

[bookmark: _GoBack]Question (5)
A wave recorder is located 1 m above the sea floor. The water depth is 10m. The maximum water pressure measured during the passage of a wave was 1.18× N/ the wave period is 20 Sec. determine the wave height using linear wave theory. The density of the water is 1000 Kg/
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